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1

(e) 37674

Minimize 1hc expression :
F(a,b)=ab+ab'+ a'b.
(A) a'+b (B)
€) a'+v (D)

a+b'
a+b

The sum of all numbers between 100 and
1000 which is divisible by 13, is

(A) 37647 (B) 37746
(D) 37764

The Gram Nyayalaya established under

.+ v, Gram Nyayalaya Act in
(A) 2007

(B) 2006

(C) 2005 (D) 2008

Thedistrict Rewariis situated in the Southern
part of Haryana, how many kilometers it

"+ away from the National Capital ?

(A) 80km
(C) 20km

(B) 40 km
(D) 60km

Which leader of Constituent Assembly
considered the Constitutional Remedies

Right as the “Heart and Soul of the Indian
Constitution’” ?

(A) Jawahar Lal Nehru
(B) Dr. B.R. Ambedkar
(C) Dr. Rajendra Prasad
(D) None of these

A'is 3 years older to B and 3 years younger
to C, while B and D are twins. How many
years C is olden toD?

(A) 6 (B) 3
) 2 (D) 12

Complete the analogy :
Bird : Fish :

: Aeroplane : ?
(A) Boat ‘

- (B) Ship
-(C) - Submarine

(D) Crocodile

(A) 37647

llIIlIIIIHIIIIIIIlllIIIIIIlIlIlHIIlHlIIIIIHIlI _ |

ﬁmﬁmﬁvﬁm%ﬁﬁq
F(a,b)y=ab+ab'+ a'b
(A) a'+h (B)
(C) a'+b' (D)

100&111000&33ﬁ72ﬁmﬁa@13ﬁmaﬁ
13 Hﬁzm‘%

a+b’
a+b

{(B) 137746 . | [ &

©€) 37674 (D) 37764

UM =rETerE AT % dEd AW AT
T ard 4 worfia fema w7

(A) 2007 (B) 2006

(C) 2005 (D) 2008

Ty ey @ TR feRerie i gl W
wion & el el 3 foren et feora @ 7
(A) 80 freiter  (B) 40 fereitet
(C) 20Framfir (D) 60 Ferediie

afaa™ 991 % fRe Jar 3 g sumEt
o AR = g wiga = geg ol
AT’ AT ?

(A) ST AT TEw

(B) .. . g

(C) <. TSiE WE

(D) 3§ IS T |
AB ¥ 39 TR 3R C & 3 e vy
?, el B 3f D yeat ¥, Dﬁcsﬁang
foreft afrere 2

(A) © (B) 3

< 2 D 12

aaf) : wee aenéaam ?
(A)

(B) ST
(C) wgssh

(D) WD,
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Which of the following is the project name 8. ﬁ'l:lﬁﬁélﬁ T @ = a1 fager 2021
for the India’s first manned mission to  afafier § vt % gael e fme afdise
space by December 2021 ? FAHE ?
(A) Gaganyaan Project (A) T qfEiSHT
(B) 'Mangalayaan Project (B) AT AT
~ (C) Chandrayaan Project ‘ (®) Wﬁq&zﬁw
(D) None ofthe above (D) IuFFHE IS el
9, Gandht Peace Pnze 20]8 was . "9, wfeft gmifer WIT — 2018 O T8 g
" awarded to et TraT o ?
(A) Vivekananda Kendra, Kanyakumari (A) fad®He *7, FHATHHART St aTtor
" for rural development, education and forepray, fRreT TR Srepfer HEMEAT %
development of natural resources ferepa & foTT
(B) Akshaya Patra Foundation for (B) 3A&d U HISUSTH T A A
providing mid-day meals for Tl o fIT ALAT8 IS 3ITsY
children across India FH o fau
. (C) Japan’s Yohei Sasakawa for his (©) 3 U7 IYT § Ik I * T
. contribution in Leprosy eradication 9 & A8 gEEl I
(D) None of the above ' (D) ?ﬂ'{fﬂﬁ A ehls TEl
10 A typical voice signal has aAbzmdv'vidth of 10. Qﬂ?%ﬁ?ﬁwﬁaﬁﬁfﬁm@i
(A) 3KHz  (B) 3GHz Bt 2 | |
| (A) 3KHz (B) 3GHz
(C) 4KHz (D) 4 GHz (C) 4KHz (D) 4 GHz
11. ;fhc Haryana Municipdl Corporation is | 11. %’ﬂﬂTUTT TrTferent fem el fda @ 7
- located in (A) fomm o a7
(A) Sirsa (B) Ambala (A) (B) 3ree
©) Pt (D) udftw@

(C) Bhiwani (D) Panipat .
12. The Pratapgarh Farms are located in 2. 39S B Rl R g 0

(A) Jhajjar (A) T
(B) Karnal WA - ‘ (B) =t
(C) Hisar wradiy ©) ﬁgm{ _
(D) - Fatehabad o (D) WdeTETE
13, The planes 2x — y + 4z = 5 and 13. WA 2% —y + 4z = 5 3T
: 5x = 2.5y + 10z =6 are SX =25y +10z=6 fraaEe ?
- (A) Intersect y-axis (A)  y-3181 1 yferedg & &
(B) T 3 o w2

(B) Parallel to each other
~ (©) Perpendicular to each other (©) @@}%Wﬁ%
(D) Pass through (O, 0, %) : _ Do (O'. 0. %) | ord & : |
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14. Complete the series :
2,4, 16, 128,7
(A) 2046 (B) 2045
(C) 2041 (D) 2048

15.

by 14

T,

18.

19.

20.

- 16.

If day after tomorrow is Saturday, what
day was three days before yesterday ?

(A) ' Thursday (B) Monday

(C) Sunday (D) Saturday

The elastic potential energy stored in a
spring of force constant k is

@ 3¢ B bk
(C)' %mv2 D %_—mv

Which was the first State'of India used: -
Electronic Voting Machine (EVM) for
voting Panchayat elections ?

" (A) Gujarat

(B) Himachal Pradesh
(C) Rajasthan
(D) Haryana

If ‘< means *‘-’, >’ _means ‘4,
‘=" means ‘X’ and ‘$’ means ‘+’, then what
would be the value of 27 >81$9<6?

(A) 36 (B) 33

C) 6 (D) 30
Complete the analogy :

Play : Director : : Newspaper : ?

(A) Manager (B) Editor

(C) Owner (D) Columnist

Phelgu Tank is the tourist place located in
(A)‘ Panipat | '

(B) Hisar

(C) Kaithal

(D) Bhiwani

- 14,

15.

16.

247,

18.

19.

20.

i

2,4, 16, 128, " . i

A) 2046 (B

((c; 2041 D), 2048
aﬁ(aﬁm)m%mﬁmﬁqﬂﬁaﬂ%,ﬁ
(e gu) e B o @ ff ot et e ¢
(4) TEER (B) WK

© WEm D)

¥ s kg 7 |

@ Fe¢ @ gk

(€ Fmy’ ® ™
YRA 1 98 TST IA-9T IT &1 T I919d

AR § g difdT 7Y (EVM) &
UEEH SR SIS TehaT T o ¢

(A) TSAId
(B) Teum=ret wewr

(C) TSEAN
(D) i

R ‘< HFers -, S o Aaed 4
= RIS xS Y e R, @
21>81$9<6H A TR ?

(A) 36

(B) 33

©) 6 (D) 30
TRETAT Ut i
m:ﬁﬁw::m_qg‘:? ‘
(A)  Sere (B) wurew
© " D) wyds
] &, O e Torey e

’ TR RIBGe?
(A) Urfgg ?
(B) Teom
(C) FHuw

(D) fyarh



2.

T 1)
“(A)  COS (3)

- © O

23.

24,

25.

26.

E o,

gt

The ang]

~ city ?

- (C) 481

(©) 1968

(I
% ubhash handra BOsC Park is located at
(n) Panipat B

(é) Hisar

Patwari
(D) Ambala

e between the planes
2x+y+3z-2=0andx _2y+5=0is

3

®-
o s (%)
9, the 12" edition of

ace and Defence
hich of the following

Aero India - 201
International Aerosp
Exhibition held in W

(A) Bengalurt

(B) Mysurd .

© Chennai

(D) None of the above

h switching technique, a dedicated

In whic
ysical connection 1§

and complete ph
established between two nodes ?

(A) Message Switching

(B)
(©)
D)
Dieckman condensation reaction is
‘governed by mechanism.
(A) Carbocation  (B) Carbene
(C) Carbanion (D) Free radical

Circuit Switching
Packet Switching
Data Switching

Complete the series.

7,26, 63, 124,215, 342, 7

(A) 391 (B) 511
(D) 421

In which year Haryana Tourism
Corporation Ltd. was established ?

(A) 1996 B) 1976
(D) 1966

454

21,

22.

23.

24.

25.

26.

27.

i . 5/2019 (1) ¢
gqmaaihﬂqﬁﬂa‘tﬁﬁ?aa%? (1)(Ml)
(A) greftad (B) ueanf
(©) feam (D) &fwmer
W2X+y+32'—2=03ﬂ'{)(—2y+5=0
ﬁfnamzﬁmm%?
S ]
(A) coS (3) (B) 5
©) 0 (D) cos"(%)
@agﬁ—m_zow,a‘m@um@mﬂ;
(mgasfﬁaﬂlza'imﬁﬂ%ﬁéﬂﬁ@
Frg e i TS feRer T 7
(A) ST
(B) "I
© =8
(D) I # A
mﬁﬁﬂaﬁ%ﬁ,aﬂg%zﬁa@
mﬁﬁ&ﬂt@aﬁﬁlﬁg@_ﬁwﬁﬁm
ST e ?
(A) Hemr et
@) i fef
) e fafzm
(D) itwe fEfm
o A e
gm0 Frifa S 2 |
(&) e (B) CICiEl
(C) wEfa (D) T T
e Ut it |
7.26, 63, 124, 215,342, 7
(A) 391 B) Sli
(C) 481 (D) 421
maﬁgﬁqmvﬁzﬁﬁm%ﬁ%%aﬁ
WOME !
(A) 1996 (B) 1976
(C) 1968 (D) 1966 I
T
|
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52019 (1).(MD)

8.

30.
31.

(A) 40 ms-2

32,

3,

» Nationalist activities in w

>_ (©) Karnal

L unit of l"unchuyu-li Ruj in

The lm\?csl unit o

Haryana is

(A) glock Panchayat

(B) Gram Panchayat
(C) Taluk Panchayat
(D) Zila Pa_nchnyat'

pulitzer Prize is an award for achievements

in which of the following ficld ?

(A) Scientific achicvements in the
Europe and USA

(B) ; Newspaper, rpuguzinc and on!_ix?e

journalism, literature and musical

composition in the United States

(C) Sports achievements in the Asia and
‘Europe c

(D) None of the above

Serial port transfers data serially bit
~atatime, : ‘

(A) 16 (B) 8§

€ 2 D) 1

The velocity of a particle moving along the
X-axis varies according to the expression
v, = 40 - 5t*, where v, is in meter per
second and t is in seconds. The average

acceleration in the time interval t = O to
t=2s1is :

(B) —20ms?
(D) —-40ms?

The value of aLif A= | o0 SN 2
A+ A =Tis sino  cosa

w % “(B)-%
© %% o Y

Pandit Neki Ram Sharma concentrated his

(€) -10ms2

hich region of
Haryana ? 3 R

() Rewari  (B) Hisar'

(D) Rohtak

284

29.

30.

31.

32.

33.

o

lvaron 1 ey 1 o favreny ghd
5y ; ; X

iR |

(A)  weifefs e

M3) 7m0 T

(C) Teent G

(D) fren demai

yferes YT e fereafenfiera 4 d 3 formii

svaafierl 2 fer gk T 2 7
(A) 79 siw axitfen # St 3uafey

(B) Hyer U SrifieR § gHEm -,
(C) ufimn v 70 | wa Iuafey
(D) 3w | U 1 el

e 9 tiwe 1 T g7 7

fore shm @ TumTafE AT 2 |

(A) 16 (B) '8

©) 2 (D) 1

X-3187 3 T T Weh <R <Rl o7 fregfad
v, =40 — 5¢ % ITFER Ta=1 g &, foram
v, Wt afi dehg & 3 &I ( Tehs T 2| W
A t= 0 W t = 25 ook 3T =0 FE ?
(A) 40 ms? (B) -20ms?

(C) -10ms? (D) —40ms?

coso. -sinol | s '
-aﬁA:[ ]aﬁ“{A+A’=I%,

sing,
IR IEE

w % ® %

© % ® Y

ufea ¥ TH I 7 79t Tegare) nfafafim
<! BT = foFe & | higg fean ?

(A) @l (B) fam

(C) A (D) Ued®

Ccosa

N
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35.

: 36.

37.

38.

39.

A

£ 34 Yog Samrat Ba

(C) Draw

(B)

(e)

(A)

ba ‘Rumdvcy was born in
which district ?
Mahendragarh
(B) Rewari
(®)
(D)

Bhiwani
Gurgaon
If the following five words are arranged in

alphabetical order, which word will come
in the middle ?

" Draw, Read, Play, Back, Want

(B) Read
(D) Back

(A) Play

NASA recently planned to launch unmanned

nuclear- powered drone, Dragonfly. What is

the aim of this project ?

(A) Aims to search the alien life on
Jupiter

Aims to search for signs of microbial
life on Saturn’s moon, Titan

Aims to carry the Astronaut’s to the
Mars ;

(D) None of the above

If + means X, X means +, + means —,
— means X, then 50— 10 x 20+ 5 +21is
(A). 520 (B) 490

(C) 500 (D) None of these

Find the missing number.
3 6 2

51.12 |4 5.8 |2 5] 7 |2

2 3 )
(A) 17 (B) 16
< 15 (D) 18

The town which was founded by Firoz
Shah Tughlaq is
Hisar

(C) Gurugram

(B) Fatehabad
(D) Agroha

5/2019 (1) (M1)

M, ﬁﬂwmmmﬁammmﬁéﬁ
gl
(A) HEHTG
(B) gl
) Tt
D) T

35.

36.

37.

38.

39.

Draw, Read, Play, Back, Want

(A) Play (B) Read

(C) Draw - (D) Back

S, LTS TR R A e f
SHW%‘IE%‘RTW-%?

(A)  FEeuld T T Sfter bl T e
(B) If 3 <IEHT, TTgeA W EHTEl
e & dahdi =hl @ISl Rl

(D) ST H A IS T

afy + w1 ook x, x o I 4+, + F I -,
_pr et x 2, q 50— 10x20+5+28

(A) 520 (B) 490
(C) 500 (D) =T IS A
T T g :

3 6 2
5| 12 |4 s| 18 |2 5| ? N2
D 3 9
(A) 17 (B) 16
(C) 15 (D) 18
eIt 31T grreren g enfm R ® |
(A) Team (B) GG
(C) T (D) 3Tl

{

B
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40.

41.

43.

44,

45.

46.

What was the reason for defeat of Haryana
warriors during 1857 uprising ?

(A) Non availability of leadership

(B) Paucity of arms

(C) No CO-operation from other
dominions

(D) All the above

Biuret test consists in treating the alkaline
solution of proteins with solution,
(A) CuSO4 (B) Sodium azide
(C) Pyridine (D) Sodium nitrate
2 -1 5 2
If A= , B= , C= z 0o
3 4 7 4 3 8

then matrix D such that CD - AB =0 s
[91 10 r_ )
A) } @) [-191 -110
77 44
.
191 110
J (D)

| 7 4
[19 11
| -77  -44 |17 14
The set of all integers under the operation
* defmed by a*b=a+b+1isa group,
then 3-'i
(A) 4 (B) -5
(C) 5 (D) -3

(©)

Western Yamuna Canal is derived from
Yamuna River at which place ?

(A) Tajewala (B) Karnal

(C) Bhakra-Nangal (D) Salhawas

The Haryana State Police Headquarters is
located in

(A) Panchkula
(C) Ambala

(B) Karnal
(D) Rohtak

In which of the following year, the Imperial
Forest Research Instﬂute was set up at
Dehradun ?

(A) 1906 (B) 1895
(C) 1885 . (D) 1926

,\b
1 {

40,

41.

42,

43.

44.

45.

40.

|IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIHIIHIIHII lﬂ ./l
1857Eﬁmﬁmgﬁwn%zﬂﬁ%mm
AT g7 o7 7
(A) e 7 firermn
(B) T yafed A & 7 fiern
(C) @11 fgrar on1 g 7 firem
(D) 3ulaa g+t

e k- S < k8 i
o &R wiver =T T R ST € |

(A) CusoO, (B) wifgaw ueTse
©) ffen (D) wifem e

sl peefs Sheefs 3]

1 3778 D 1 B, SR CD — AB = 02 7
91 10 191 -110

A B

(8) [ } ®) 77 44}

7: 4
191 110 - [19 11

©) o [
277 -44 (17 14

¢1*b—a+b+lmqﬁﬂrﬁﬁﬂ'@7ﬂ1

© o dgd gyt I
a‘m-wﬁm?ﬁ A
(A) 4 (B) -5

(C) 5 (D) -3
ﬁﬁmwﬁuzzmﬁmqﬁa-
frepreft TR ?

(A) TR (B) wAw

(C) ¥E@SI-9MA (D) WieeEm

e T4 1 e e v e 7
(A) T (B) weTTw

(C) SiaTe (D) e
ﬁm%f@ﬁﬁﬁ%eaéﬁwmmagéuﬂ
e 1 TG § eenfir e ey oy 7
(A) 1906 (B) 1895

(C) 1885 (D) 1926
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48.

49.

50‘

S1.

52.

- (D) None of the above
53.

54.  Find the missin g number.
ﬁ | 594 | 198
o _? |66
W 2 B) 12
. ©) 11 (D) 33
- | ; ; 9.
S : : ;

-Which novel 0

(A) Pickwic Papers

| A singie ﬁ.op.py-disk controller board

Charles Dickens
- ation on the impact of
ol on poor ?

(B) Hard Times

(C) Oliver Twist: (D) Germing]

jves in rma
industrialisation

ribbon cable,

supports a .
(A) 30-wire (B) 21-wire
(C) 33-wire (D) 13-wire
VARCHAR2 can store up to
bytes of characters.

(A) 6000 (B) 4000
(C) 5000 (D) 8000

How many members are sent to Rajya
Sabha from Haryana ?

(a) 2 ®) 7

€ 5 D) 4

The High Court at Lahore was established
in the year

(A) 1919 (B)
(€) 1915 (D)

1916
1918

State of democracy in the world in 2018 is
released by

(A) Economist Intelligence Unit

(B) Amnesty International

(C) UNICEF

Which Article of the Indian Constitution
provides an independent Election
Commission ? '

(A) Article 324 (B) Article 370
(C) Article356 (D) Article 320

47,

48.

49,

50.

51.

52,

#53.

54.

31201«

= R 1 1 g2y #%)W(Ml)
AL 1

SfreifiTERaT % wurg - ‘
Ty
(A) TUe 9TH (B & 27z
(C) ML (D) iy

el oh! HETIT <al 2| —fom
(A) 30-AK% (B) 21am

(C) 33-dK (D) 134m
VARCHAR2 _____ 152 o
T i hd & |

(A) 6000 (B) 4000

(C) 5000 (D) 8000

TR | T8 H b T Ty s & 7
(A) 2 (B) 7

© 5 (D) 4

TR H I e A
Tonfe fepam T |

(A) 1919 (B) 1916

(C©) 1915 (D) 1918

2018 ¥ forva & irerd =) feufy form e
EQUS I I R

(A) e TR T

(B) THAR Sevw

©) I

(D) 3w o & Frg T

R Afaem 1 1 |1 Ag=ae T &
FATE ST YeH Htal @ 7

(A) ¥g=ag324 (B) 2gweq 370
(C) Sg=dq356 (D) 37=e< 320

IS ST 91 HH |

NI,

(A) 22 (B) 12

) 11 (D) 33

i
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5/2019 (1) (M1)
55

56.

57.

58.

59.

60.

(C) Cotton clothes (D) ‘Bicycle-

ﬁm:mmmwm LR

letteys are there 1N the
which is as
of the word
he English

How many such
word BACKLASH each of
far away from the beginning
as it is from the beginning in t

Alphabet ?
(A) Two (B) One
(C) None (D) Three

Bhindawas Wildlife Sanctuary is situated
in which district ? '

(A) Gurgaon (B) Rewari

(C) Faridabad = (D) Jhajjar

Choose the word which is least like other
words in the group.
(A) Piglet

(C) Calf

If A is square matrix, then which of the

following is not true ?
(A) AA'issymmetric

(B) Cub
(D) Hireling

 (B) A— Aisskew symmctrid

(C) A+ A’ issymmetric

(D) A?is symmetric

Number of districts in Haryana State is
(A) 24 (B) 23 :
(C) 22 (D) 25

A coil has an inductance of 53 mH and a
resistance of 0.35Q. If a 12V emfis applied

across the coil, how much energy is stored
in the magnetic field after the current has

built up to its equilibrium value ?

(A) 23] B) 311
(C) 5517 (D) 1001J
A group (G, ) has -10 elements. The

minimum number of elements of G which

- are their own inverse is

(A) 0 (B) 2
© 1 (D) 9

Sonipat city is famous for which industry ?
(A) Cement (B) Car

-10-

55,

56.

57.

58.

59.

60.

61.

62.

N

‘ llllll'lllllIIIIIIIIIIIIIIIlIlIHI"III!IIMII]III

Y72 BACKLASH A T8 fran e7em &, e
ﬁuﬁmmﬂﬁmﬁm‘ﬁﬁﬁj%,ﬁlﬁm
%aiﬁsﬁanfcmﬁsgsamﬁ%?

(A) @ - (B) T

(C) el (D) <
S R AR
feme?

(A) T
(C) wlieEms .
aamgﬁqsﬁaqg%mw@wﬁ

& frear @ |

(A) Ha (B) WRRME
(C) wBel (D) TIL
aﬁmﬁm%,a’ﬁmf?@ﬁﬁﬁﬁqm

gd el g 7

(A) AA' ®ufi@e
(B) A— A’ fermaafid @

C) A+ A TAftE?

(D) A’ g

o v # Rl & g forat 2 7
(A) 24 (B) 23 ¥
(C) 22 (D) 25

T el § 53 mH 1 30T 3T 0.35Q I
g 2 1 gl 12V fea-geEhia s (emf)
ﬂ@@?ﬁ%waﬂmw%,ﬁrﬁmm
1 T HIF S % WG e & H feherft
Fett e Biefi 2 7
(A) 237

(C) 557

8 (G, ) ¥ 10T € | G Tl hl <7
G 511 T o R B

A) 0 B) 2

©) 1 ® 9

AHl9d TR fohg 3eiim o ferg wRg R 7
) = @) wx

© NI (D) wEww

(B) 31]
(D) 1007

e —
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., 63

64.

65.

00.

07.

68.

| partlculal column

(A)
(B)
()
(D)

In SQL, functions are used (0 -

unp]cmenl (,alcu].mon based upon a

(B) ORDER BY

(A) Aégrcoate
(D) BETWEEN

(C) IN

Which one of the 1"0110Wm0 1S not in the
category of gommunlcation channels ?

(A) light band
(B) broad band
(C) narrow band
(D) voice band

Which of the fo]lowmg Cl[y bagged the
title ““India’s cleanest city’” by Swachh

Survekshan —2019.7
(A) Patna ‘
(B) Indore

(C) Kochi

(D) None of the above

The sum of all integers between 200 and
800, which is d1v151blc by 9, is

(A) " 32796

(B) 32976

(C) 32967

(D) ’%2769

Which Ples1dent of USA Sdld Pldnl
more wheat, wheat will win the war 7
(A) Roosevelt =
(B) George Washington
(C) IJefferson

(D) Wilson

4

IMBEX 2018— 19, bilateral arm

between which of the following countries ?

India and Madagascar
India and Maldives
India and Myanmar
None of the above

y exercise

63,

04.

65.

66.

67.

68

fac V__‘ ‘ : " ) .
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(B) ORDER BY
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(B) 32976

(C) 32967
(D) 32769
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69. The Haryana Lokayukta Act came into

70.

71.

72.

73.

74,

force
(A)
©)

Sarpdaman is the ancient name of Which
city ?
(A)

(B)
(©)
(D)

CH CHO

@ Cro,Cl, :

This
(A)
(B)
©)
(D)

In which year State Reorganisation

Commission was established by the
Government of India ?

(A)
©

Nitin

49 students. What is his rank from the

last ? .
(A) 31 ®B) 19
(C) 18 _ (D) 32

The equation of the line parallel to x-axis
and passing through the origin is

(A)

in the year i
2007 (B) 2006
2005 U)) 2004

Sirsa

Sohana
Safidon
Sonipat

3

reaction is called

Darkin reaction
Etard’s reaction
Jone’s oxidation

Chichibabin reaction

1954 (B) 1952
1947 (D) 1962

ranks eighteenth in a class of

(B) x=y=y

(D) none of these
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(A) eifeh erfirfeman

(B) et sfrfpa

(C) <= HATaefato
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I TR A o o T Ttea st oy
TG i off ?

(A) 1954 (B) 1952
(C) 1947 D) 1962
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(A) 31 - B) 19
(C) 18 D) 32

x-318 % THMRR Gﬂ'{‘ﬁ@‘éiﬁm
freieakLic oy 5 R S

(A)

TR,

N< O«

—
—

(B) X=y=gz
D) AR 4y

©)

—_— —

—] e | e

0
2
0

Scanned by CamScanner



* Choose the corT®

‘ m ||||||||1|||||Illl||"‘“% |

ot word to fill in the blan :

75, We must not yiolate the

law.

~(A) Caneons
(B) Cannons
(C) Canons
(D) Cenons

of‘

Choose the part of the following sentences which

has an etror @

76. Our happiness Or our SOITOW is largely due

to our own actlons
(A) due to our own actlons

(B) is largely
(C) Our happiness Or Our sorrow

(D) no error

Change the following sentence in simple present

tense :
77. They are playing cricket.
(A) They played cricket
~ (B) They play cricket
(C) They have played cricket
(D) They have been playing cricket

_ Fill in the blanks with appropriate phrase

78. The robbers the defenceless

travellers.

(A) setupon

(B) make out

(C) setout
(D) setoff

5/2019 (1) (M1)

Fill in the blank with appropriate word from

the options :
79. 1 have lost one of my gloves. I

~ dropped it somewhere.
(A) must have
(B) could
(C) must
(D) would

You have been traveling all day. You

be very tired.

80.

(A) must have
(B) must

(C) can

(D) could

Choose the correct indirect form of the following

sentence from the given options :

81. She said “The earth goes round the sun”.

(A) She said that the earth going round the
sun

(B) She said that the earth goes round
the sun

(C) She told that the earth go round the

‘ sun

(D) She said that the earth has gone round

the sun

Use appropriate linker to fill in the blank :

82, He has neither attended the meeting,
has he sent a message.

(A) nor
(B) but
(C) or,

D) et
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83. et Raftay
a1) g\ ) T e e
%) ot
ar el .
(A) @ . ¥
(B) @ IR
(C) = o g
(D) T - z -

84. ‘S~w’ 3w wise H wyer fe<lt sl @
A) = ’
(B) 37
©) =q
(D) 3

85. ‘IeT’ e sl WreaATe G 8

(A) =M
W) v
© Wé

(D) IeM
86. e R

&
(A) T
(B) T
€ T
(D) 7

a4 g 8.y
4 d o

88.

89.

i

7. ‘o i g o i S 1 g A

P w8

(B) @
(C) TE

(D) =M v
Wﬁ@aﬁqmwm@@
TR 7 .

(A) TEIF

(B) oW i

(C) ﬂ‘a’ﬁ

(D) wa
T & T T 1 iar T R 7
(A) T4

(B) @A b
©) frew

(D) I
T Yo Tl
(A) Ifg . s ‘

(B) T
(C) <

(D) I
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